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PART—A

( Business Mathematics )
: (Marks : 32)

1. & fadl e e fig

Answer the following questions :

(a) o e fmn \

Define matrix. !

1x3=3
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(2)

M) ;M fi)=x+|x|, S® f(-)) ﬁ‘fﬂeWI
If f(x) = x+|x|, then determine f(-1).

(c) Wfﬁq@ﬁ?

What is effective rate of interest? -

Sl SE]-[2] e comon s o

0 0}|1
FqI
1—2[3 x
., — = , th determine the
*Josila] o) @en
value of x.

3. CFURT @ o IR TN =@ -
Solve using Cramer’s rule :

2x+y+z=4
X+y+z=3
x+3y+2z=>5 0
ST/ Or
. 12 2 ,
MA=(2 1 2|, coRTA Refg w1
2 21
1 22
IfA=|2 1 2|, then determine AL,
' 2 21
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4.

5‘

(3)

= QA 541 : 3
Find the value of
2
lim 3x“ -12
x-2 x-2
d2y
M y = xlog x, m?ﬁﬁwn 6

) 2y
If y = xlog x, then def:ernﬁne F .

w231/ Or
2x° -21x? +36x - 20 ¥ 7S T TESY I

g w1

Determine the maximum and minimum
values of the function 2x3 - 212 +36x -20.

TR TS WE SR TSR o R 2
What is the difference between simple interest
and compound interest?

& TR 36,000 51 [ =T 4% T 4%4%
TS 41 571 1 6 TR TS (06 TR o[ O
o1t 5 9,240 1 oiicet 1 g R, R B
yte fafer 2 4

A man lent ¥ 36,000 to two persons at 4% and
4% respectively. After 6 years, he received
¥9,240 in all from them as interest. How
much did he lend to each of them?
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(4) (S)

¢

(d) TR <1 AR B
8. TR 6% IR T IW gy z-wR AT Write one merit of mode.
T3 2R R 9 5
What will be the nominal rate of interest (e) i 2x-3y+4=0 W= g=6, (58 x Ay
convertible half-yearly when the effective rate F]q1 »
1s 6% p‘a'? v & If 2x_3y+4=0, y=6’ then detemme
o X. : '
PART—B
{ Business Statisti 10. (a) &9 (b) SR TS A
- Dusiness stics ) Answer either (a) or (b) :
( Marks : 48 ) ' .
(@ () = T SRFR s IR Rfgs1: 3
) _ Determine median from the
9. =Te TR RetiEm tey fi 1x5=5 _ following data : -
" Answer the following as directed : T

7, 5, 6, 8; 8) 9’ 3’ 6

(i) woe i SURPT o/ TR g Ay

(a) mﬁmmfﬁa%"mﬁmwmﬁm

Name the Components of a time series.

0 : . S
o Determine AM from the following
(b) TIF MRS T oM A data :
(R 3R o1 3427 ) : ‘ TR : 15 25 35 45 55 65
' Mid-point .
Index number is usuall ressed in '
form. B I[EAE ;10 3 2 4 1 2
(Fill in the gap ) Frequency
(c) FoTFNT Xw fimt \ (iii) R T T TR AR =T T @
. i \ For any two values, prove that
Define correlation. M > GMaEM 6
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(6)

w231/ Or o
M) () mwz‘o‘rﬁng@%wwﬁm 3

Which measure of dispersion is the
best and why?

() SN B @IS 500 wWowHRAT |
TR TWET w5000 BN
QNG oF - WF TR TR
TRA T o FAS 5,200 Hr

. 4200 B @GR oqm SR

- R R 5

The mean monthly salary of 500

employees of a company is ¥ 5,000.

The mean monthly salaries of male

and female employees are & 5,200

and ¥4,200 respectively. Find the

" number of male employees of the
company.

(iii) =T g ST o1 o3 e w= By
¥q 6

Determine the coefficient of
variation from the data given below :

LER : 0-10 1020 20-30 3040 40-50

Marks

RIS SR : 8 13 16 8 5
No. of students
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(7)

11. (a) 9T (b) SR e 79 -
Answer either (a) or (b) :

(@

(@

y

Wﬁmwwm{ﬁmﬁs

7 WR ARR &9 2+1=3

What is Karl Pearson’s coefficient of
correlation? What is its range?

e fir euRFT | @ bES ]
QIRF T Ay 37 -

Determine the coefficient of rank
correlation from the following data :

60 64 68 72 76 80
38 52 54 66 59 73

(ii)) ©=o feq SURFI @1 TR A

\' () ()

24P/989

EBT@'%NET:

From the following data, find the two
regression lines :

X =90, ¥ =70, N=10, 2x? =6360,
2Y? =2860, TXY =3900

w91/ Or

7

Wﬁmwmﬂawﬁmmy 3

Write the properties of Karl
Pearson'’s coefficient of correlation.
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e R . - o e

i) T wwR r=0.s5,

(8)

Tdxdy =120,
Zdx? =90, o, = 8. TP A Fefy
E2IN

Given r=0.5, Zdxdy =120,
Zdx? =90, 6, = 8. Determine the
number of pairs of items. .

(i) TS fiq1 R W X3 AwCE Y

TR AP Ry 741

From the data given below, find the
regression equation of Y on X :

X : 35 42 20 50 72 64
Y : 40 48 24 60 84 68

12. (a) WAV (b) OPR 6 3
Answer either (a) or (b) :

(@ @) B F= e Ay SRTer P B

L LT
Year

b
Price
24P/989

3o ? TR A

What do you mean by seasonal
variation in a time series? Give
examples.

(i) &S fRgr O [T 3 IR v TS Aefy

18

91

Determine 3-yearly moving average
from the following data :

: 2010 2011 2012 2013 2014 2015 2016

24 25 20 16 8 2
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(b)

24P/989

(9)

(i) o FM @ ORI PRI Teor

IR

Prove that Fishér’s index number .

satisfies factor reversal and time
reversal test.

S%q1/ Or o
() <O I NS WA 21 I &
T 7 T
What do you mean by secular trend
in a time series? Give examples.
(i) oo gt ouR A1 QRF [ TR
T s e
Determine cost of living index
number from the data given below :
Rerr i d 2
Group Index No. Weight
IR 360 40
Clothing
b 1L} 300 25
Food .
T F T 267 7
Fuel and lighting
AR 120 8
House rent )
S 320 20
Others
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(10)

(i) TTSN 3o AR 2 TR wore famn
O /1 2Rl @91 Ay 79 6

. Using  least Square  method,
determine trend line equation for
the following data :

=Y : 2006 2007 2008 2009 2010
Year '

B * 100 120 140 160 180
Production

* k&

\ . :
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